I can use the commutative property.

Match each expression with the one below that shows commutative property.

1 2x3
Bx7
8 x4

Ox7
11 x 3

7 x6
4 x5H

3x8
4 x9

8 x5
11, 3 x4

121 5 x 11
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I can use the commutative property.

Match each expression with the one below that shows commutative property.

11 2x8
6 x8
5x12
3x9
4 x6
7 x4
8x9

2XxXb
8 x 3

11x7
1, 12x9

12/ 7x6
A

I CARCIAR il IR CIR R LR L

bx?2

8 x6

Objective: 3.0A.5 - Commutative Property W
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4 x7
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3x8

6 x4

12 x b

7 x 11

8 x 2

9x8

9x3




I can use the commutative property.

Match each expression with the one below that shows commutative property.

11 2x7x5H
2] 2x9x4
3 3x8x3
Bx7x?2

4x7x3
6x8x2
3x6x3
8, 2x8x4

—

9/ 4x5x3
10, bx6x2
1M 4x11x2

12 2x12x6

A B C D 3 F

o) @) |2

6x3x3 6xb5x?2 7x4x3 11x4x2 2x6x12 | 8x4x2

2x5x7 Bx2x7 4x3x5H 3x3x8 O9x2x4 6x2x8

e T T T T T T

Objective: 3.0A.5 - Commutative Property m




I can use the commutative property.

Match each expression with the one below that shows commutative property.

1, 2x9x6

2 4x7x3
3, bx8x?2
3x12x3
6x8x?2

3x7x2
4xHx?2
8 bxllx?2

—

9/ 3x9x4
10, 2x7x5H
1, 4x12x3

12 3x9x3
A B C D E F

o) @) |2

3x3x9 |11xbx?2 8x6x2 |4x3x12 4x2x5H5 7x2x5

7x3x2 7x4x3 bx2x8 9x3x4 3x3x12 | 2x6x9

e T T T T T T

Objective: 3.0A.5 - Commutative Property W




